i /® /® A a— 0 DO® /C‘/) /@
1] 1] E —
2 tof fof . 7 2 ‘
~ =
- | O [+
o5 B = [= %
C) ~
I o
o o5 - S| g = =8
o T3 g ~ - [T m 2
N | o N
o= =
= >
N N
St |
2 g o |
L L
| A +—r |
914
1900
2000 1000
3000
A~ARTER (S5=173) G 2D
1BA: A7 4 FBEAL L,
1000
8 [F7oo0—%— 1 [BEff=
45 910 45 EEEY] 8 |CHigEB
6 |8y5>7 4 |W1/27 v h B85
snn 5 |BEAME 8 |W1/2x 200
j 4 |BE2R 4 |6tx W50x L85- 120
= ) 3 [BR~HL 2 [1.2t . 500x 1000
< 2 R I 1.2t .~y rZET#
- e ¥ 1 |[F7 i 1 [m75x45 . 60x30
< E\ i /@ A% ® ®  |BE| @ =
IJW J:U:rL LT R} STR774F #7A0vs
0 0 (W 1000x H2000)
*—L v 52800 ] i /R
(KBO3T: BEEsE % 1 7) = (W500x H1000) x 2%
11 B = ==) R K 1710 (A3)
L] EREA 2022%¢ 3A168 ERE [ 134 E§%|




